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The reciprocal of %3><_—7 is 104

13 21

(a)

Between two given rational numbers, we can find infinitely many

rational numbers

X+Yy

is a rational number between x and y

Which of the following statements is always true?

X+Yy

is a rational humber between x and y

5x9_ﬁ
7x9 63

The equivalent of ; whose numerator is 45 =

The equivalent rational number of g whose denominator is 45

_7x5 3_5

" 9x5 45

Between the numbers 1> and Ethe greater number is 35
20 40 40

The reciprocal of a positive rational number is positive.
The reciprocal of a negative rational humber is negative.
Zero has no reciprocal.

The numbers 1 and - 1 are their own reciprocal.

If y be the reciprocal of x, then the reciprocal of y? in terms of x will

be x°

The reciprocal of z><jis —45
5 9 8

(213 x 657) 1= 2137t x 657!
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